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TERX 4 BiE =z it HH

1 ZH 767 734 1,501 557
2B/ 82 316 326 642 241
3 fit 490 484 974 355
4 8 162 158 320 110
5 faih 790 808 1598 645
6 & 165 171 336 122
7 18 37 49 86 40
8 JbFE/\ R 332 376 708 279
9 EfR/\E 483 536 1,019 410
10 #5MA 337 365 702 292
"nEH 150 156 306 105
12 db/2 405 442 847 342
13 B# 227 250 477 192
14/ 947 1,074 2,021 817
15 222 244 466 168
16 3 318 314 632 280
17 A&t 148 156 304 107
18 LA 312 347 659 250
19 5288 218 230 448 153
20 R 164 166 330 113
21 F4H 369 392 761 234
22 h AEH 247 273 520 180
23 A E—TH 612 686 1,298 440
24 BAEZTH 483 506 989 327
25 BAE=TH 641 704 1,345 481
26 BAENMTH 687 748 1,435 498
27 TARA—Y 277 267 544 160
28 /B (1) 3 19 22 21
29 f/E(I) 4 25 29 29
30 HE &Ik 27 0 27 27
31 k&5—TH 3 0 3 3
2XE-TH 33 39 72 47
BHXE=TH 0 0 0 0
34 XEBEMTH 670 722 1,392 504
3B HXERTH 402 412 814 270
36 £&BNRTH 672 725 1,397 458
37 /B ETH 740 797 1,537 545
38 HEB/NTH 710 749 1,459 463
39 XBEATH 430 399 829 250
4 HEFR—TH 487 513 1,000 427
- 51 FFES—TH 626 590 1,216 362
52 REB_-TH 536 574 1,110 326
53 RELR=TH 570 649 1,219 370
54 FFESMTH 811 848 1,659 487
55 RESATH 0 0 0 0
56 FRER/NTH 0 0 0 0
57 fHEStTH 0 0 0 0
58 FRES/\TH 0 0 0 0
50 FESNTH 0 0 0 0
60 FES—THN/* 166 190 356 126
61 BES-THALTR 110 115 225 79
62 7X-¥=wia, J—} 163 185 348 114

X & 5 % 17,469 18,513 35,982 12,806



